
ffiqr A, xyz tr. far. +1 {dcla {e sIFl 4,00,000 F.

yfd sd t fusq f+. 20.00.000 F. dFkt |1 q.rrfr ro"t"

rrrs 9.s. qrt-fi tr A + frqTqlq vq-*ro q1 tr*

T4 cfid-s{r q{ dr-q qe € t t$s{ 2,00.000 F.

f,rt dir 3ilr qnifi {e ofl-q 36.000 r. trm r qfurqtr

or Awior o1fuq :

(r) Rol (+* t
(,i) erqtq sTrq r0-S t t
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AttemPt,4// questions.

l. "Management Accounting is nothing else but financial and

cost accounting tailored to the requirements of management."

Critically examine the statement. 15

rrvq;q frsffi EB iET t qie. s-+*t +1 grrErqq-fl

er{qR ffiq sik Eltrd Asim'-l tl" Es 6.eH tFT

err-6tq-{ir+. eaf-t o1ffit
&

(3{it-.II)

Wlrat do you understand by Zero Base Budgeting ? How

is it different tiom traditional budgeting ? Write in brief its

process, advantages and limitations' l5

( (

IIIITIIITI T

"t"170 t2 5,800 P.T.O.
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q1q snerft-d sqfri,r e qTq qqT qrsA t I qt cftft-s

E-qfdl t fq..s vor< firn t ? rqr+1 sfu-q, qlq

3ii{ mqrcfi Er qfi g6q q qiftqr'(
The following are the figures of sales, cost and profit relating

to a manufacturing unit working at 50To aaPacity :

Deiails Amount (Rs.)

Sales 20,00,000

Direct cost 8,00,000

Factory oYerheads 4,00,000

OfTice overheads 2,00,000

Selling overheads 3,00,000

Profit 3,00,000

I
Every l0% increase in sales beyond 5070 of capacity is'

possible only after reducing the"price by l% on the base

level of 507o capacity sales. Material cost included in direct

cost at this level is 25%. With every lbozo increase in capacity

above this level of direct material comes down by 2%. Factory

overheads at this level are fixed to the extent of 50% and

rest are variable. E.tery .l0o/o increase in outpul over the present

(o') What is meant by divisional performance measurement ?

Describe any n o techniques used for this purpose. 8

(b) What is transfer pricing ? What. are the methods of

tiansfer pricing ? Discuss in briel 7

(ec) frlnrfl-q frq61 gqrq Hr qlqsrq't ?

ffi d iln'+{ii 6l {s BT+q fu eoit +ifuqt

(E) 3iil{q (rransfer) {s{ flr t ? 3iilq {g1
* qr nffi t ? {dc i qoir 61frqr

Or

(oTq-{D

Division A of XYZ Co. Ltd. has currently a net income of

Rs. 
.4,00,000 

p.a. generated from an investment of Rs. 20'lakh.

The company requires a minimum return of 16% p.a. A new

project is being considered by the division manager of A

which will entail investment of Rs. 2 lakh and will yield annual

nel income of Rs. 36,000. Evaluate the project using :

0) ROI method 8

(ir). Residual income method. 7

5.

t'' a

(
2_

t.

(

I

P.T.O.

(2)

i
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Calculate:

qm +d sr TitqTr t i*' ona qd + feq Bcft-q-q

6.00.000 F. €ti r q* sd i +q* 2a6 frq 6Tq *-rfi

trm qo fct I atit o.rq q-cfr.tr d * qy
qqis Yflrfi rz.ooo.y+'r{qi' tr
q-di e-qq{, zorz * qr+ofuq offi t{q v-on f<i
...rrzl f :

qtRf{fr. 3qFaqq s4,ooo T,

z{Ikltrt-s- SFIrE;I t.060 {fr-r{ql

frfqq qqq a tE

rrsr+ +ifrq :

(r) sqft-d{q drrrd tdq{q

(rr) gqfrqq qq fTq{ur

r,ir) scfrqq t6.nielq fr'fllT

(r,) FIIEFq {IEH Fi-l-{g I

level results in 2% increise in the office overheads. Selling

overheads as a percent of sales remain constant.

Prepare a budget at 80% capacity level considering the above

infonnation. 15

fiTqfdfun q@ qn fqFflfuI rsTi + ffi" orm

eln eu + t d t+ sor" qTrrdr y{ 6rq qt{ rei

*a.

tst*rtE-qi rfiq (r.)

ffi 2o,oo,ooo

Tetst drrrd 8,00,000

ffi sctaqq 4.oo,ooo

srqif,q sqft-q-q 2.oo.ooo

ffi Bqkqq 3.oo,ooo

EIlt 3,00,000

50% sErdl * orFrfi 6tc 6-ti qr rd-+, l0% km1

q{ 50% sEnrT ffi c{ lv" Rz fl r{ r qrf, sqkqq

,i vser Errrd, {q g< qr )sv" qr 1 qM Bqfuqq

srrfl € r0ozo eritrs tn qt zx ve qni ir $qr

(,

(r,)

'(iri)

(iv)

Overhead cost variance

Overhead expenditure variance

Overhead efficiency variance

Idle time variancq.

at

(

l.

(

P.T.O.

(3)

(
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iqR-dq-q {q K{ q{ so% fun t sl}{ tq cffif,
ir {q ril( q{ sflrct r0% Et-6rrr qt flqicq sqkdrq

d z"t e1 Ck a qrdt tr ffi Bcfr-qq ffi A
yftcrf, * sc i qq€ war tr
edm qe-r d entm q{ 80% qrERT q{ q+- qEre

qrl{a r

0
(uuar;

(a) From the following data. calculate Activity Ratio.

Capacity Ratio and Efficiency Ratio :

A factory manufactures two products 'A' and iB'.

Standard time to manufacture product A is 2 hours and

product B is l0 hours. The budgeted and actual

production in October 2017 was as follows :

Products BudgetedProduction ActualProduclion

A 125 Units 100 units

B 30 Units 24 I lnirs

Total actual hours worked were 660. 9

(b) State the main distinction between standard costing and

budgetory control. 6

( e ) '7',770

qdqn q{ * &r-{, q€ q,.qfi eti 6 GqE {qrT

qrt rd tr crg f€{ {FF l0%qd qritt q-qF+, vd{q

,{c at{ Tsq qrf, q1 eFkT IFERT: 3.33% 3iR 6e'"

qa qrlrft l vfrAFrfl * onq t+*q Xcq q-6ri t
orsqsl tr Bq{-fi qftfurfd i x ft. q+ qwrq rqfi

t fu 5s-*1 q{Erdr 20% ent q.,q qr d vri t qmt

{e flr {qI qrA l+' onr 2,ls,ooo F. A R+ 2

Or

(eru-qD

A factory has estimated its overheads tbr the next year at

Rs. 6,00,000. The factory works 240 days in a year. lt works

lbr 8 hours a day. The total budgeted production, for the year

is 12,000 units.

Actual data lbr the month of October 2017 are givin as

undel:

(4)

(

a

(

(

l)

(

Actual Overheads

Actual Output

Idle time

Rs.54,000

1,060 units

4 hours

{

P. f.o

(

t!
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A company lnakes an average profit of Rs. 3.95 per unit on

a selling price of Rs. l6 pu piece by producing 60,000 units

or 60"o of rhe potential capacity. lts costs of sales per piece

is: 15 (

Direct Materials Rs. 5, Direct waqes Rs. 1.65, Works overhead

Rs.5 (50% lixed), Sales overhead 0.40 (25% vary'ing).

During the current year, it.intends to produce the same number

but anticipates that the fixed charges will go up by I0%, while

rhe rates of direct labour and dircct matelial will increase b1

3,330o arrd 60o respecli\ely. There is no scope for increasing

the selling price due to keen conrpetition. Under this situation,

it obtains from X Ltd. an ofler fol a lurther 209o of its capacity.

What should be lhe minimum price to earn a profit of
(

Rs.2,15,000.

{qrcq qrrdr * oox qt 60,000 {fir{d fAfrffi q-d

t6 r. gfr TT sfi ffi ETrK q{ 3.e5 F. sfr {fir{
airqo qrq 6qfi 6qrdl t :

]rFrq qr€ 5 {., TerqT rrs{fr 1.65 F., 4r{ 3qR-qq

s t. (50% furc, ffi 3qft-qq s.a6 (25% rfr-d+fli-f,)

5 ) 7',170

(3r) fiTqfufud s+s€i + silqR q{ .ftfu|u wgwn,

&FrdI erlql-( 3ft qrds{q 3rucrd 41 rrur{r

+1fqq :

q6 SEi A rflK 'A' stR .e'anrfi tr 'n'

+ firqilT d qpaq qqc 2 EA t e*r ssr< ,a,

* foq to rE tr qels dl qr<'fu* serEq

3rqfl 2ot7 i firqfufun qr :

EgrE Elurag Tdt|({ qr5fuq; 3-4.rfi

A l2s tfir{d lo0 {.6,{d
B ,o nq.E+ 24 fsr$d

' 6d tid er qr<fqo vqq ooo {t qr 
r

(q) rTmdF orrd sih qqzt fr"iflT ii gw w<r

. Hrt ?

l. An analysis of ABC Ltd. led to lhe following information :

Cost Elernen( Vnriablc Cosl Fixed Cost

(o/. of.sales)

Rs. Rs.

Direct Material 32.8 -
Direct Labour 28A

Factory Overheads 12.6 I,89.m0

Distribution Overheads 4.1 58,400

General Administration overheads 1.1 6J00

8(

4.

(

I

P.T.O.

(

,t
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Budgeted sales are Rs. 18,50,000. you are required to

determine:

(.?) The break-even sales

tbl The profit ar the budgetcd sales volume

(c). The profit if actual sales drop by l0% and drop by

5oo liom lhe budgered sales. 15

ABc r-td. * q-d, ffiqq i ffif€n qsil Hq
-19ti

arrm a-a qnsdq'drrrd re[rfr drrd

@ or u"r

(3TTqD

Calculate Material Variances :

Standard mix for production

Material A : 600 units @ 15 Rs. per unit

Material B : 80d units @ 20. Rs. per unit

Material C : 1000 units @ 25 Rs. per unit

. Actual mix for produftion :

. .Material A : 640 units @ 20 Rs. per unit

. Material B : 960 units @ 15 Rs. per unit

Materiat C : 840 units p l0- Rs. per unit

qrfl $I fu.l(ut (variance, ql rluHr e1frC :

sflr+r q-r ffi-+tfn ftxq :

Er?r A : 600 E6l[qr @ 15 {. Tid'FmT'i

rltr B : 8oo Es'r{d' @ 20 r'. srd {sTi

rlltt c : l0oo s.F|{qt' @ 25 I'. nft EsT€

sflr+r q qrwfu+. frqq qr :

qid a : 640 FqtEd @ 20 a. vfr lqT€

.rrnr B : e60 {sT{d @ $ {. yft {md

rltl c : 840 ssr{qT @ 30 {. sid {6-Ii

0r

d

(

I

1,89,900

58300

66.700

F t1

TFIH

qFIqI

qrfl

qq

ffi scR-qq

fa-d{Tr ickqq
qrqrq g{nsfT*.

( (

wkqq
e-qls ffi l8.s0.0oo r tr air'r0 sTqsn t fs fi?riftd

otfqq :

( ei, vqol K{ TqrFI

(sl q'rr-g ffir qRqTDI q{ otrl
(s) Yfr q-q-s ftEir s"" 3ifr qmfum ffi ro""

q qz ql+fl fr $rqr.

4

P.T.O

F.

32.8

28A.

12.6

4.t

t.t


